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7118 [<EY[>=-0.04] B 10.06] B [0.07|7~-0.04] B 10.06] & |0.05|7=|0.05|%4L|0.07 |7+ 0.04
711 17|8H|>~-+004| B 10.06] E [0.07[7~-004| B 0.06] B 0.06|7=+|0.05|%21/L]0.06 |7~ 0.04
7] 1]22|<£Y|=>-0.05| B 10.06] E [0.07[>-004| E 0.07| B 0.06|7=>+|0.05|%1.L]0.07]|72>-+ 0.06
7111(30] & | £ 007 & 009 & [0.11]>~0.07] £ 0.09] £ 0.09|=-+|0.09]%4]0.08]7=>-++ 0.08
71 2] 3[<EY[7=+0.05] B 10.04] B 0.08|>=-+0.06] B 10.06] & |0.06|7=+|0.04|%4L|0.07 |7+ 0.05
71 2 [14[<£Y ][>~ 0.05] F 10.06] F |0.05|7-+ 0.04] T 0.06] F |0.05|*-0.05|%41L|0.08]|7*>+ 0.06
712176+ |7~ 0.06] B 0.06] B [0.06|7=-+|0.05| B 0.06] B 0.06|7=>-+ 0.04|%1/L]0.08|7x7++ 0.05
71 2 |28|BE+ |7+ 0.06] B 0.06] B |0.07|7=-0.04] B 0.06] E 0.05[7=-+ 0.05|%1/L]0.07 77>+ 0.07
7] 3] 3[{EY[>~-004| E 10.05] E [0.06|>=- 004 B 0.06] B  0.05|=+|0.04|%1.L]0.07]|7=>-++ 0.05
7| 3 [10|BE+ |7+ 0.06] B 10.06| B |0.08|7=+|0.04] B 0.06] B 0.06|7*>-+ 0.05|%1/L]0.07 72>+ 0.06
7] 3|21|<&Y|>=-0.04| E 10.07| E [0.08[=-+0.05| B 0.07| B 0.07|=+|0.06|%1/L]0.07]|7=>-+ 0.06
7| 3 |28|BEH |7~ 0.06] BL 0.06] B |0.08|7=-+ 0.05| B 0.06|  |0.06|7*+ 0.03|%4/L|0.07]|7*>+ 0.05
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